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ANSWERALL QUESTTONS

l) Stackis one ofthe data structure'

Implement tn" ooO"* for the followrngStackoperations whicfi''

i. Ctt""t *t ether the Stack is empty; : I
ii. Return front element of the Stack; I
iii. Add an element to the Stack; i
iv. Remove an elernent from a Stack'

a) Implement the C+t code to determi:re the result of given postfix "*p'&io" 
using Slack data

structure. r"t *Jo*e ti" fottoting linear anay 
"ontaitts 

the postfix expfession'

b)Modifytheabovecodetodeterminetheresultofgivenprefixexpresslon.
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2). Consider the binary tree given below'

Implement a cr-+ pfogram for the following the binary tree Trdversal whic|:

a) In'Order;
b) Pre-Order;

c) Post-Order.
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3). Implement a c++ program to sort the following nunrbers in a descending order rtsjtng quick

sorf technique.
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